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Ans. : (b) B2 § f¥afim avi =1 wEr W W oF & o
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(a) A= (b) FHH
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(c) Fwirsit (d) FgFHE

AR g Fe1 Sar &1 =l wEt i | [Ans

.1 (d) ¥T FER AW (T _1398-F 1518) B
Afged & 9f &1 & THAE T4 &6 § R0 asiEa
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el S 2
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6. ''Zrudt @t =i’ = oved &—

(a) T & STAR FA (b) A Fre
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Ans, : (¢) TTE F AT EER F 3 FH T wWG g+
e A A 2
7. 'HU HgE AT T Ad g
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(d) e I ar €ifva sEa @

Ans. : (d) ‘Y HEF @ qeEl & A4 CHifwm g oA
WA AT 2 2
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mﬁwﬂwwﬁﬁm(ﬂ),(ﬂ;@’
(@ e & ¥ 9w wnl stuw @ ° 9
T AW w IfOA wH § SR ATiE TR IE
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(@ e mT T A A

@) =i # fom fgfe

(6) 3T & T T TH|

(a) A@1d (b) FFIA
(¢) TFAA () @13
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(2) 39 # o (b) T A
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(a) F8 eyl F1E FA A
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(c) @it wa #

(d) I TE=EH T Ft
Ans. : (a) FF & ¥ § §9 Hecaqul A ® & Tl
I & 2
16. ‘T TN TR € cororresnsnssssrinn]

(a) TS F (b) FFAF

(c) T % TIH F (d) AT F
Ans. : (¢) YT ST § HF T 0 GAUT F o
T % g@ ™ 4 &2
17. Tohe Sfeal WT SR T 2T0THA g1 87

(a) 8w Fed W (b) W F e W

() T A Fewl W (d) I B W
Ans. : (b) 99 & Ru 7T FEww § FH FEa ¢ &
ferer? =T =hfersit wx 9e) fae o1 2
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(c) TTETRW HE (d) e = i
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)
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(b) Fw1, FEEE, fGam
(c) TEAE, A, FEM
(d) wHAl, FHE, [EH
Ans. : (a) 98 T & R A9, =@, WE Foam
Ft # W AfFdEEE G FAT S 1 SR - G,
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(c) e (@ FERa
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23. W TAAT IIeg W OET HIATI
(a) = (b) MW
(c) Hufehet (d) e
Ans. : (b) TR V& & a0 Y& 21 3 F YR I
sgAt, gfvewd, Ayt g )
24,  |ETdE veg Taea it
(a) 9 (b) =it
(c) AI™ (@ ¥
|Ans. : (d) T 5’ TYE H T ¢ FalH X W@ |
25, ‘‘orifvreR’ vTee W weard @ £ 7
(a) & (b) =
(c) = (@ A=
Ans. : (¢) Sl ¥ A ] & A H JeHL 394 29l d
oRadd @ £, 9 9 FEAn 8| e SiE # 3% 5
3 T WA W 9 9 R auiw, afew, wies,
s sl )
26. el f¥u TC A & FeUUl @uE W ferEd
T, =fy g qE 7 & A4 (d) 90T = Tatea
it

qfer T A/ F AE Shs
(2) (b)
g FE T
(c) (d)
Ans. : (a) % 999 € YT F T A F A F0GE €
Tl
27, =yfd = Wi fasse € -
(a) =9+ M (b) =+ HH
(c) =g +3fd (d) =g+
Ans. : (b) S5 Ty % STER = AT 4 7, T, T
=% HAY: U9HE B A1 2 g, T, T oW AW A
forereRt <€ (am, 3, %) @ 9 &1 SE-
o + a1 — i
T + S = afif
i + v = AT

)a
»
-

28, To=md= yieg =1 === Firem)

(a) WEF (b) =

(c) 3 (d) Fmg
Ans, : (b) TEF, FYIE 91 T A & THEEE T
& SafF e gan & vataarE e 21
29, ‘‘ga'' @ faEw wAE—

(a) T (b) fare

(c) I (d) =

|Ans.:{b)'&'ﬁt35rﬁﬁﬁwﬁa'ﬁﬁ@m%| ‘
30. igen, e, afew fRa vrse & qataaTedt €7
(a) A9 (b) =9
(¢c) dfea (d) 9
Ans. : (c) TEaT, den, ufer, Wi wff T & wEiEEE
= 21 gad F ord I5en, g #1 o ey, o
ad 3z, @a a3

qrT-11 : | gfeg wdteror
Part-II : General Intelligence Test

31. There are four candles which can burn for 5
hours, 4 hours, 3 hours and 2 hours respectively.
All of them are lighted at the same time. They
are kept lighted till the time 3 candles are
finished. If the cost of lighting each candle is
1.5 per hour, what will be the total expenditure?

=W AraEeal e Jers # Audar Hmav: 5
HUZ, 4 TUL, 3 VS UF 2 HUS §, W UF wmg W
Tk E 9ua aferd fear =T §1 5% e ° 39
AT A AT AT § T dq e " oA
nrEfal g 7 Wre| afe gedd meeer &t
T H @ T 1.50 W U ;A T @
e = ?
(a) T16.50 (b) % 18.00
(c) T19.50 (d) 21.00
: (¢) T FHafE % 4 92 7% o Fa @
=4 +4+3+2)15
=13x1.5=19.5%.
32. 1If a clock show time as 7 hours 30 minutes then
what will be the angle between hour hand and
minute hand ?

afe et wdt # 7 s 30 fre &1 @ &, @
IH |HT v Ud fame w9 & ofter R
Tt =61 hror =T ?
(a) 120° (b) 95°
(c) 75" (d) 45"

Ans. : (d) I GEEl & T FH0T = [7—3—5”}3(”?

30
=(7-6)x30+ >
(EORR SO

=30+ 15=45"

Ans.
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33. A dice has been shown in four different
positions as follows. Which number is on the
opposite surface of number 3 ?

U T o W YR Sl ST AT § 26
U H i 3 % faufia wees oY w1 3w

I

(i) (ii) (iii) (iv)
(a) 2 (by 3
(c) 4 () 6
Ans. : (¢) TF T8 common I8 ﬁ, S (i) B (iv)
T FH fF A g wAe: e ™
AP (i) 2,5,[4
SFR (iv) 2, 6.
fad T ot % ameR w3 F fAvda 4, 1 F ol 2
41 5 % fawdd 6 g

34. How many rectangles are there in the given

35. Ram is elder than Shyam by 315 days and
Krishan is elder than Ram by 70 weeks. If
Krishan was born on wednesday then which
was the day on Shyam's birthday?

T, YA W 315 feF =wer € i wen, vw ' 70

AT gt §1 AE FOT W T AR R AT

ot at vare @ s TR fa ge an?

(a) Monday/S/aR (b) Wednesday/qa

(c) Friday/ YA (d) Saturday/¥TaR
Ans. : (b)

315&3%?1%@&#3&@@1:%%@%

=0
HA: TW, TEW a9 FIT F §H @4 & a7 34iq gEan
F 2
36. In a particular situation 'A' is 4 years elder to
'B'. 16 years later 'A" will be thrice of his
present age and 'B' will be five times of his

present age. Find the ages of 'A' and 'B' two
years before the given situation.

U frafa § 'A', 'B' ¥ 4 a9 @reT §1 79 fafa &

figure?
f=r s Fo e wgys 82 16 @ @Tg ‘A’ HI FHH TAAH @wr
LA = t ﬁﬁwﬂﬁmﬁﬁ'ﬁmaﬂﬁ‘m
3T W U AT B WEAf I waed R e
= faidg ftafa ¥ 2 a9 9gat 'A’ 3T 'B' &
21T = oAv?
(a) 6 yearsand 2 years/6 @9 3T 2 =d
(b) 10 years and 6 years/10 &4 3% 6 a4
(a) 20 b) 22 (c) 8 years and 4 yt:a.rsfﬂﬂﬁaﬁ'(él-aé
(¢) 27 (d) 29 (d) 12 yearsand 8 years/12 o 3t § =
Ans. : (¢) Ans. : () 791 B &1 39 x =4 21
a b o A SH = x+4
c d : B 1“[
(x+4)3 = (x+4)+16
¢ f . 3x+12=x+20
- J 2x=§
1 h x=4
—> UH-UH W T T A=Al F UGS =a, b, c,d, e, f|||3/: AR IT=x+4
g h, i, j 314fd 10 —4+4
— -3 gl | T AGA F OGS = (ath), (c+d), =gaf
(e+h), (g+h), (i+j) 97 5 LA A AR BH T -8 2qm4 - 2ad
— Fﬂ?—?ﬂq aﬁqﬁ ﬁ Eﬁ 3T|—q7‘ﬁ ﬁ & = (B—C'H':), :szaﬁ

(ctetg), (b+d+), (d+E+h) 3TaTq 4
— TR FER H a4 eEd # §E = (ateretg),
(b+d++h), (a+b+etd), (cre+d+), (Frg+h+e) 3741 5
= -9 S H W Al # ' = (atbre+rd-),
(Frgrhtet]) 3190 2
el Al § e & e = 1
AT Fel A FI WEAT = 1045+4+5 +2+ 1 =27
ﬁ?:mﬁ%ﬁﬁﬁﬂ@ﬁﬁmwgaﬁﬁﬁﬁnglishﬁ
Rectangles (3113) for@n mar &1 s 3 ot sea ames

T F e ()] S e

37. A person travels from place 'A’ to place 'B' at a
speed of 40 km/hour. While returning he
increases his speed by 50%. What would be his
average speed for the entire trip?

e S A" T | B ¥ a0 40 e ufy
EUST Y T AT AT U IO A 50%
AqIFT FiEar ¥ Sl A & fad st
e wfe =7 87

(a) 36 Km/hour / 36 Tordi/=mer

(b) 45 Knvhour /45 f&e/a0ar



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON

Google Play

(¢) 48 Km/hour / 48 T/ =maT
(d) 50 Km/hour / 50 Tt =y
Ans.: (¢) AT B & o # 7 & vl = 40 fEdtHe

B@Aﬁaﬁﬁmﬁ#nﬁ=4ox:;‘;=somﬁm

. e v = 2x40x60
40+60

4800

100
= 48 a1 ssier
38.  Six People A, B, C, D, E and F, are sitting in
two rows with three people in each row. E is
not sitting at any end of any row. D) is sitting on
the left of F and is at second place. C is sitting
next to E and diagonally opposite to D. B is
sitting next to F. On the basis of given
information who is sitting opposite to B ?
P ST A, B, C, D, E 3R F, &= ==afem wfer
ufte & AR o dfeal § 49 %) E TRt of
ufe & o H A€ ¥ D, F & A 0w g
T 9T 81 C, E &7 werdt § 3w D & fEentaa
woE 1 B, F w1 Ut #1 Iulen g %

R W B & T0E i §7
(a D (b) F
(c) A (d E

Ans. : (d) 797 # RY ¢ g= F AR w AR w5
i # e e 2
D B F

Xt

A L S
wE % 5 B ¥ ¥m E &
39.

A water pump has a capacity to fill water at 10
liters per second. How much time will it take to
fill the water tank of 80 cm x 60 em x 50 ¢m?

10 #teT ufy Wehveg & =T W Ut 9 Ao o

ZT 80 Bt x 60 AT x 50 T MW FT A=

W H feRa=T wHa eeem?

(a) 12 Seconds/12 gFue

(b) 24 Seconds/24 Thve

(c) 36 Seconds/36 THTE

(d) 48 Seconds/48 FHUE
Ans. : (b) &5 &I AT = . x 9. x %

=80 x 60 x 50 79

= 240000 57 T

=240 weX (- 1000 4.} = 1 wfex)
2 F 9 | o gy =%

= 24 YFve

40. There are six people L, M, N, P, Q and R each
having different heights, N is taller than Q and
P, but shorter than M. P is taller only to Q
while R is shorter only from L. From the given
options choose the one that shows the pair of
tallest and shortest person in group.

B safeal L, M, N, P, Q 3T R ® & wedes &t
TS T3 21N, Q 3T P | wwam §
T M ¥ BT §1 P faw Q & wan § wafE R
faw L & grer 1 fre § 9 =9 W g wed
T 3T WEH B W WSV A 2
(a) MandP/MAIP (b) Pand Q/PAATQ
(c) MandL/MAIL (d) LandQ/LAAQ
Ans. : (d) TSR SR & T & T
Q<P<N<M<R<L
3 Q TIH BT AU L FIHY & 2|

41. Complete the series from the given options at

(?) sign -
frrefafas o 8 & 8 geer § yoT Ao
ferz (7) =am= o7 = sram?
1331, 2197, 3375, 4913, ?
(a) 8288 (b 7110
(c) 6859 (d) 9826
Ans. : (c) TG 9 TN E -
1331 2197 3375 4913 6859
I | | I |
(ay @3’ as’  an’ a9y

42. If a rectangular block of 4x6x8 ¢m dimension
is cut into small cubes of side 2 cm each, how
many small cubes can be formed?

Terelt STramTeRTE SeTTer TRt SITaTT 4% 6x8 Tt
%, & afy 2wt smam 9t SR-ge u= g
uftefdd & faar o, 9 For AT o g
Ei?

(a) 12 (b)y 24

(€) 36 (d) 48

Ans. : (b) STTAHR T B SETT = (4x6x8) T9 T,
Bl I & HEFAT =2 x 2 x 2= 8 I &AL

afe o9 9 g9@r = 4X§xg=4x 6=24

43.  Ajay and Vijay are brothers. Ram is father of
Vijay, Kamla is Ram's sister. Prema is Ram's
niece. Shubha is maternal grand daughter of
Kamla. How is Ajay related to Shubha?

e o frera avg #1 ww fawe & far £
I T T TET T YT AT HY ATAT §1 FAT
FHAT S AT §1 IS H YA T =T 57
(a) Brother/TE

(b) Maternal Uncle's Son/AaT 9T1E

(¢) Maternal Uncle/AM™T

(d) Nephew;/ s
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Ans. : (¢)
=] e --s,
AN 4
o ;
[ i - —1 .

» . N HMH
HaY A ¥ WY 2 % o e # A

44.

\—/‘ vat ‘
|

In a exam 70% candidates passed in paper-I
and 60% candidates passed in paper-IT. 15%
candidates did not passed any paper, while 270
candidates passed in both papers. Find out total
number of candidates appeared in the exam?

T wfiar ®§ 70% faEneff vuw-1 § s+l gu
3t 60% ferameff dor—mm # swfivf gm 15%
foremeff =1 YA B SV gW wEfE 270

ferameff S ot ° Sfiot gu feenfyEt w Fer
wee et 22

(a) 600 (b) 580

(c) 560 (d) 540

Ans. : (a) TR 1 & a7l faanfEt # ofaea
= 100 - 70 = 30%
T 11 # argefof el @1 wfem = 100 - 60 =40%
Fd T fafdar & 3favE = (40 + 30 15)
=55%
T 3ol fenfiEr &1 Rk = 100 - 55 =45%
s 45% =270

100% = E><1{]L‘J =600
45

45. [Esamine the given figures carefully and
identify the correct logical option that can
replace (?) sign. )

Uy ¥ € T ffEen ° uye 9w
forz (7) % T ov & sram?
16 64 256
4 16 64
(a) 37 (b) 47
(¢) 36 (d) 42

Ans. : (d) 919 &R,
\ﬁ+\ﬁg+\f§+\£:10
T 644100416 +425=27

IH I,
256 +144 + 64 + 36 =42

In this question one word is given alongwith

46.

cannot be made using the alphabets of the
given word. Choose out the odd one-

T WA H U Vs AU W WN Tawmew oI
T ¥ 9 faseul § | dhaer U € fawew Er
T W R T vreg & orerl | W weTem Ww

TeRAT| 39 TareRed &t
INTERVENTION
(a) ENTER (b) INVENTION

(c) INTENTION (d) ENTERTAIN
Ans. : (d) 5@ = # INTERVENTION 3% A 78 #
THfeTs Y2 ENTERTAIN & /401 S &bl 21

47.

Choose the correct alternative from the given
ones that will complete the series at (?) -

frreaferfaa & 7 gEer § gy o (9)
& T T T HTET?
1,5, 14, 30,55, 91, ?

(a) 121 (b) 136
(c) 142 (d) 140
Ans. : (d) 57FT 39 TFE 2-
I 5 14 30 55 9]
L JL JL JL_JL_JI
+4  +9 +l6 +25 +36 +49
) Y @ () (& ()
48. Two group of numbers to the left side of the

sign :: are related to each other in a logical
manner. Select one number from the given
options to replace (?) sign in the same logical
manner,

o wve # fas & and i & T el &
ITET qE AR T Ao § yyarn o

four options. There is only ome option which

(?) & = W HET fashew wAE?
11529 : 72135 :: 23687 : ?
(a) 36999 (b) 47261
(c) 12968 (d) 69981
Ans. : (¢) 58 53R
1+1+5+2+9=18
agqr T+2+1+3+5=18
I TR
2+3+6+8+7=26
aqr 1+2+9+6+8=26
49.  Find the missing number in the following series

at (?) -
Freferfiaa & ¢ afmen # wowarers fow (2)
o T U ST AT ?

4.9 5,39
9720 786
.17 19
(a) 20 (b) Yy
.20 29
= H =
(©) 45 @ 153
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Ans. : (b) e f=aq € - 53,

+5 +10 +20
[ [ 1 |
9 19 39
20 42 86

— O | —

F1lL__+22 _ +44

50. In this question four words have been given out

For the year 2016, which Indian player has
qualified for boxing in Olympics?

ferm wrete fgardt F a9 2016 & Afaw
weaTTar & aiferdT Wer &g draar ura @ §?
(a) Devendro Sin gh-’aﬁ iz

(b) Vijendra Singh/fei= fiig

(¢) Shiva Thapa/f¥mar @mar

(d) Dinesh Kumar/Ra FAR

of which three are alike in some manner and
fourth one is different. Choose out the odd one-

TH WO # o T uW faeRent ® ® W T

Ans. : (¢) 9Tg fgeret forar amr 4 ad 2016
e Sfaifar § e Te g drEa A # e

ifeher w9 A gearta ) 39 vsg w0 ghw .| 54

AT E —

(a) Acharya Kriplani/3remd St
(b) Dr. Radha Krishnan/2T. T41wT
(¢) C.V.Raman/dl. 9. ™7

(d) Rajagopalachari/TSTIETER

Ans. : (a) 3= FIAH F Sl I qf AFFE B
A T faar e 2

Who preceded Chakravarti Rajagopalachari as
the Governor General of India?

=rehaedt ¥ Ud WNG H TEAT
AT I &7

(a) Lord Mountbatten/elg AE=Za2

(b) Lord Irwin/ae 34

(c) Warren Hasﬁngs.-’aﬁ:l gREmg

(d) Lord Memo/@TE A%t

qr-111 : | 77
Part-111 : General Knowledge

Ans. : (a) T TSI (T WG9 Twe (99t
forieTy) 0T 9RAG & Ugel 99 dmedl TSHaeEn &
ud AT F A S 41 and efEn dme @ ogaw
TaAL FTA 9T

51. For the year 2016-17, in terms of defence
budget, what is India's ranking as compared to
other countries of the world?
fava o ad 201617 = T8 aSE YT WA

farfir=r 9t 1 g o i o1 T 87
(a) Second/THI (b) Fourth/=tn
(c) Fifth/greem (d) Sixth/@aT

Ans. : (b) T4 201617 F &0 A9 F W I9 95l
4 F qA H 9.7% Fi, e F T, FH FROT 9

55. What is the percentage of IRON, in chemical

composition of earth?

geft Ft T § WAt wie @ @ (IRON)
it fererft =T 2t 82

{a) Approximately 20% - 22%/@THT 20%-22%
(b) Approximately 25% - 27%/ET9T 25%-27%
{c) Approximately 40% - 42%/THT 40%-42%
(d) Approximately 32%-35%/@THT 32%-35%

fafir=r 20 & ga # 65 ©M | & WH FW (49) a1
AT FideT & 2017-18 % @ a9 § Mol a8 &
Ta & 6.2% F gfe 1 T, | Fror and fafm <
F e § 54 A woen ) A 2016-17 § w0 a9
& fu 2.58 @/ FUs ®94 797 2017-18 & W T &

Ans. : (d) 95 F WA H S (32.1%), ST
(30.17%), oo (15.1%), F=ifraa (13.9%), Te%T
(2.9%), Ffea (1.8%), wHfeam, eIl
IF T TE W E | YA O ThEs o 5
AR 9ol # T H o 47% e 21

fofw 2.74 Mg &iE T9F & WG BB T A

52. The Second Battle of Panipat was fought
between-

urfroa = et g Reeas e erer ar ar?
(a) Babur - Lodhi/aT& — @t
(b) Akbar - Hemu/37& — 39
(c) Ali Raja - Chandragupta Maurya/
Feft T — T A
(d) Akbar - Lodhi/2Fa% — @i

56.

According to population census 2011, what is
the population density of Uttar Pradesh state?

o 2011 W FAUAT F SMUW UT SEC-WI
TS I AT T T 52

(a) 661 Per Sq. Km./661 9 a7 fhelieiiey

(b) 573 Per Sq. Km./573 3fa &t fapaamies

(c) 828 Per Sq. Km./828 ufd & fheidiiet

(d) 785 Per Sq. Km./785 Sfd =7 faarfier

Ans. : (b) THIT #1 fadE @ 5 TEER, 1556 T W
AN TEE AR G & 9) g I 99s T949%
fasFarfacT (29) o g G129 SfdeR & Wed gaAl il

Ans. : (¢) T8 2011 FT FI0MT & YR T I I
U &1 TGS 99 828 =Afed ufa @t fpendieT 21 1
framiet % &9%a § w1 O A # ogen &
SEE 99 Fel S gl

T3 F IREE GO Y F 9 A W @A Al g

& HwE @ @ 7 g F e S W e ad
qrTea & fadE g S o

otE H ©F AR @ T FRO F8 S @Y 43N ey [ S

What is the percentage increase of annual
budget estimates of Uttar Pradesh for the year
2016-17 as compared to the original budget
estimates of Uttar Pradesh for the year 2015-16?
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I WEIT T T a9 2016-17 T ATGE TS

A T 2015-16 & ATEAAER AT

i gorT # ferae wfewre sfares o &7

(a) 20.12% (b) 18.60%

(c) 14.61% d) 12.10%
Ans. 1 () 3T TSI T &1 99 2016-17 & a1 a9
AT A 2015-16 F FRAAF T ATAA F AN §
14.61% =it g2 81 T § % 3o% waw & 2018-19
;gﬁmmﬁ@ﬁﬁﬁwaﬁﬁwﬁ 11.4% %t 3%

[

58.  What is the radius of earth?

gt T arefenTa faRaT 7

(a) 5999 Kilometer/Framizt

(b) 6371 Kilometer/fFamet

(c) 6990 Kilometer/fFamiet

(d) 9066 Kilometer/fherieiet
Ans. : (b) 98T §F ¥ 0 & F8 F d@0 aq AFR 7
591 921 78 g1 379 9% FI9 3UFE § 98 USAE AT 39
g, o w sfeT @wa 21 sww fayeda B 6378
fpemiet @ gda B 6357 fHaniex &1 gEw @
sited fsar 6371 Frardiex 791 F@@ &F%a 510100,000
71t et 21
59.  Which district in Uttar Pradesh has the highest

sex ratio?

I Wew T ¥ fw wwum & fem eru

e st £7

(a) Azamgarh/#ATEHTE  (b) Deoria/291

(c) Gorakhpur/"?f(@i'{ (d) Jaunpur/ﬁﬁ?g(

Ans. : (d)
ST YawT U & foer  fermga
TS 1019
Zaftar 1017
TR 944
S 1024

60. Who amongst the following has never served as
Governor in the Uttar Pradesh state?
ot o & foree v WY T o el
TEWTT et TE Haren?
(a) Sh. Chandra Bhanu Gupta/d 9= A 1
(b) Sh. H.P. Mody/4t w=.91. #Ardt
(c) Sh. Kanaiyalal Maneklal Munshi/
4 Feearara wftwara it
(d) Sh. Burgula Ramakrishna Rao/

4 el TaEs e

Ans. : (a) F TEAGST UM A (1945-1952),
FRAEE WO A T (1052-1957) @4 qen
THFWT TG (1960-1962) I T & TGS & T €|

(a) Poorna Swaraj Resulution/’{”‘f e

(b) Quit India movement/TRA BT ST=a

(¢) Dandi March (Salt March) movement/

= A (A9 TEEE) AeeH

(d) Khilafat movement/faensa sr-<rem
Ans. : (b) ‘FU a1 T H AW WA T T 9T BiEt
H=rad & GHG T a1, forger @1d, ‘qRa & SHa 3w
F o F U W e F oyaw & 91 W= &
A § TE, 1942 ¥, F Aaw qRAE FIW 7 9BF
T % Tarferar 3F § gf 4 ol Fw Geied F 9@ 9
B! Ar=ie & iR & o T 9 e i 9w |
& ‘T U A F T B F TR0 A H
3 + fRwar & fofar dfa 9 it A= 31 36
U U, FiEH 39 ARRER F A9 WG B TedE

e FLE Al
62. When is the "International Women's Day"
celebrated?

' srigie fgen faaw’’ e v e 87

(a) 8" March/8 Ard

(b) 8" August/8 aFTE

(¢) 5™ September/5 fHaw=R

(d) 9" November/9 Fa=%
Ans. : (a) ‘T Afeen fEw v af 8 A9 #@
fova W & wen o 21 9 Sesvd HRasd &
afeened F A w w1 BT @ R et @t
s fam § gs 549 B 2
63.  Which planet of our solar system is also known

as 'Red Planet'?

fore & = ‘o W' o T & o ST e &2

(a) Mars/5T9 ¥7 (b) Venus/IF T

(c) Mercury/ @4 78 (d) Jupiter/32%afa 77
Ans. : (a) 1 79ed ¥ e 7% 9 @ 5f F #9 F <A,
WER H HEal T 99T T2 &1 ITW TE W STA
siaEe 31 SfEA F FEO g ¥ IWT W e sf
e foadt @ R R0 58 a1 A FE 9 21 A
TE B GE & TEE B AW 9 f 5 5w 2
64,  'Who was the founder of "Arya Samaj'?

“ e woTe ' SR AT feRa i oft?

(a) Raja Ram Mohan Roy/T=T T e T

(b) Swami Vivekanand/@r FEa®m=

(c) Swami Dayanand Saraswati/

=l FA= qeEdl
(d) Raja Radhakant Dev/TT T9Tid a9

#t T W T SR R F T B T @

61. For which movement Mahatma Gandhi gave
the slogan "Do or Die"?

form e=ie & fau were wieft g =
A @t A e T ar?

Ans. : (¢) @ ZAE= GEET A WE G S A
aie, 1975 § gmE § frar o, R sagvg ks wd
F [E T F NG FE, GG F GG [ F
ToifaE ®9 § UE gF X AT agr qa aWE 5
FANG T AT
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65. In which year, was Urdu declared as second
official langnage of Uttar Pradesh?

IW WY U H 3¢ & Tydta wwwmen wa
wifera femar m=n?

(a) @ 19867 (b) =¥ 1982F

(c) a4 1989F (d) =d199] #

Ans. : (c) ‘I VSV VMEEE WM HUES aAfufm,
1989’ & g U971 § wiwEE FE % o g @ g
T i {2 T A

66.  Which place out of the following is not related
to productum of steel?

foer 4 B A e e fmior I et w5 g2

(a) Jamshedpur, Tharkhand/STHTER, gr@re

(b) Burnpur, West Bengaw-{f@(, af¥= e

(c) JTharia, Jharkhand/Sif=n, FRETE

(d) Durgapur, West Bengal/3MTE, If¥=m Fma
Ans. : (¢) IR, ARGUS T[T & TH Ve 2, A HEen
IR & fore S S 2

67. Which Lokayukta of the following in Uttar
Pradesh has served the office, for maximum
period of time?

I W T | frer § ¥ foRw wreRrge @
T WAt T 7
(a) Justice Mirza Mohd. Murtala Hussain/

=aragfd frst deere qder gdq
(b) Justice Kailash Nath Goyal/

Ferer g W

() Justice N.K. Mehrotra/@afd .3, HawaT
(d) Justice Sudhir Chandra Verma/

=g et == a4
Ans. : (¢) 3T 52U & J waifs e FEwe
m&ﬁﬁ%ﬁsﬂm Eﬁwmﬁzooe%m

maﬂzolﬁamwwaﬁz%lmmqﬁﬂﬁ
1989

1983 ¥ T4 1989 T,
# T 1995 % 4T geR == @A af 2000 F

af 2006 7F @HFF F W W B\ FAAH § IO qGW
F AT g g 2

68. From where has the national emblem of India
been taken?

W @ g forg whet § forar w7
(a) Bodh Vihar, Gaya/Ta1 Rad i fer &
(b) Kolkata Museum/Sieiehiar g daerea 4
(c) Patna Muscuny/92A1 Raa wy@ma o
(d) Ashoka Pillar, Sarnath/

g fom ares @ 3

69. Under the "Kanya Vidya Dhan Yojna", the
Government of Uttar Pradesh awards the
motivational prize money, after
clcannga’passmg which class?

‘gt faET o= G & arede 39T wewr
TET g e werm | Il 2 uT weareT
¥ ey & et 82
(a) S"ar=eET F= (b) 8"“/e3dT T
(c) 10Tt e (d) 12%/aEredt Fa

: (d) T R ¥R AT % e I MW
wﬂt I UETHfEuE Uy g aen ot smsi &t
ST & S @1 @ faen wm A @ weeTd I
% gl 4 aifgcy fie @Ea A4 ad 2012-13 #
& fomar o) fred o sEed # 30,000 % @ g
T H TR A 2013-14 H F@ 990037 727 F 20,000
%, HT G T FAAE R SR G TF AT & ded
T FEE #I 9y fAafd e & gEaE R T 2

0. Which of the following hill station is located at
the highest from the sea level?

e T I ST WHE a6
H Hay e &7

(a) Darjeeling/@Sfe T (b) OQoty/&eT

(¢) Shimla/Rrer (d) Dalhousie/Seatsit

%

~J

Ans. : (b)
T E O9E 9 ° S (He )
et 2050
| 2240
e 2202
ERGE) 1970

71. On recommendation of which of the following,
the provisions for fundamental duties were
added to the Constitution of India?

e # & few u At degia F ouw wogw

el O - WSl &l WA & Hiaqum

T =g T °r?

(a) Balwant Rai Mehta Committee/

Taaa T Hear affy

(b) Swarn Singh Committee/&0i fiig @fmfa &

(¢) Ivengar Committee/2TaTH Tffy

(d) Thakkar Commission/3e I &I

: (b) TER @l Rig A A AN F AR W
ga m"cfaﬁ T g TauE #4289 gyneE arfufEm
1976 % 30 WA & dfaaE § Sier T4 FoEd 19 el
qfHfa darad 09 |, s el = e F gaie
3 7 THR A IR T gEEe § W 5

fern St WRAg % W § g €1 T O
W # 9 ffE 2, S uE g & 9 die e gu 2
@s A 0 F SWER F IR TF w Toad ¥ Uw
Ffl, FHET WA e UF wisl, UE fE a9 S 6ig
M§1ﬁm%|@awﬁwmmﬂm

F = T gel &1 TR TR 3

26 SHAY, 1950 F 9IE FE & T TiE EeE B

72.  Who has been awarded OSCAR in the year
2016 for documentary film cate

0
g 2016 T HEHE FACTA sﬁuﬁ%ﬁmﬁm
oo feRe?
(a) A.R.Rehman/U. SR, Tga9 3
(b) Asif Kapadia/aft safgan 3
(¢) Deepa Mehta/drar Fzar =
(d) R.Balki/3T. et 7
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Ans. : (b) T 2016 § FEIS

% forg ‘omfas @rafear qar ¢

mei|

73. Recently Samajwadi Government in Uttar
Pradesh has approved an increase in monthly
pesion for oldage citizen. What is previous and
revised _élensinn amounts?

BT B T WHTSETE! BT 5RT THT Wa9T e o
g Uy @ Ayt e o werest
ferat =t T3 €7

(a) ¥ 200 toT 300 per month

guft 4 fopem “wy’
-8 St e e

T76.  Article-368 of the Constitution of India deals
with-

R HfwT % Irg=se-368 w1 W fRad ¥?
(a) formation/establishment of Finance
Commission/fad 2mET & T2 §

process of Constitution amendment/

Hfaum deiys e &

emergency regulation/3TAAHTA IT57Y T
formation/establishment of Election

Commission / fHaf== sm/@m & 129 @

(b)

(©)
(d)

7200 & T 300 9T WrE
(b) T 300 to T 400 per month

T300 ¥ T 400 9fF w1E 7.

(c) T 400 to¥ 500 per month
7400 ¥ T 500 wfF g

(d) T 500 to3 600 per month
500 § 3 600 9T W@

Ans. : (b) T & ¥ IW WY TF § FAETS THR 7

Ans, : (b) WA WRAYH ST 368 #1 HaY WfEUE §
dYiee 9 i HOe # ulEE offt 3o wtFe 4§

To select the entire text in a document in
computers, which keys should be pressed?

ferelt dhvoget § wA-ahrT ot ST dhel gar
F wegut e T wrE feRar S £7
(a) CTRL+K (b) CTRL+A
(c) ALT+F5 (d) SHIFT + A

Fg1 TvA 1 9T F 300 T [ T F 400 T B A
T e @ 6 o gedd Yve g & siala e

Ans. : (b) 5t FFEX § 'CTRL + A’ Fet daH o
gepet arelg & 999 fear s &)

v eI 1000 7. F & W 2

78. What will be the decimal equivalent for binary

74. .FDr. the year 2'015 who h:‘ls ‘been awarded number 10117
[ﬁ;%:r;a Award' for the National Game of ff ST (Binary number) 1011 3T
o 2015 W ARE F TLT G & fordr e THGER T 2
qraRT TR feam mar? (a) 8 (b) 9
(a) Sreejesh Ravindran/Bremy @isa (c) 11 (d) 15
(b) Abhilash Mahatra/z1fareT B0 Ans. : (¢) FETH HEA 1011
(¢) Babita Kumari/afear F#aRI =1x2"+ 1x2 + 0x22 + 1x2°
(d) Satish Sivalingam/®arT frafaTs =14+2+0+8
Ans. : (a) 3 2015 ®1 “WA F T G@= (2 F fow =11
ol TSR Bt Wi #i far T 81 fyens =) (79, Which one of the following options is mot

F Fasgt §, IR FARX F FA A 947 Gl Rrafe
ﬁ%ﬂmﬁﬁqmmm 2017 %

fow s @ () % fo erfT gren e,

i

associated with computer system?

freafefaa § & o et wonelt o grafad
87

(a) PPP (b) FTP

(¢) URL (d) EPF

75.  Which of the following pairs is incorrect?
forer & | = wr gafera = £7
(a) Baburnama - Babur/S=E{AH - dEL

Ans. : (d) PPP (T30 e ¥5e¥M), FTP (FEE 219
Yiatswe) @ URL (FFed Red @y & &y
Frget yorelt & 21 EPF (Fd9rt wfasy ffy & dew
FPATT A B T 2

(b) Shahjahan nama - Mohd. Taahir
Yesel AT - HEwg dlfet

80.

Permanent Memory of a computer is known as-
fedt F™@eT #T Permanent Memory T
et €7

(a) RAM (b) CD-ROM

(c) ROM (d) CPU

(c) Hun;layun nama - Humayun
BAT T - BH
(d) Tuzuk-e-Jahangiri - Jahangir
TIH-T-SR MR - SR
Ans. : (¢) ﬁﬁﬁﬁ'ﬁ -
EICTasIE - EICES
ISRl AT - HEWE Al I @H
garg - TEEedT T
TIH-T-EG - RN

Ans. : (¢) ROM (Read Only Memory) TF TSN &I
e @ e A weger aw e seeels
o # A ST €1 ROM F722E # Permanent
Memory @1 RAM (Random Access Memory) FFgX
F A AN w2
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